EARAROBREBRT —5 XN—ZXBISH—F

20235108128 (A) 15EEHH

U C2— 95%R3EE

‘(fﬁ} W ‘I%EH?’JF&] | & 1000 =

[AE%] 17%:700,000 "  275:280,000W  33#%&:175,000 § ~ 43 :105,000 " . 5 7&:70,000

B®RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
N s ALEE :32. -3-3- 4 - LA RER (EH)
1By 3|98/ 0Ly—5 380 e Bl e U iz
R:ANTT—IN B:FREAU— BREMFEIN/ T7—L
—— B 4 | SHEE 1:33.1 2-2-2-2 | 41.4| - 2 467 |BAEE (@)
14|77 54.0 G172 ) |EBEE
Ridqsy hUAR—O H: v RRR TS5V R¥s
—= 4 6 | HES= 1:33.5 8-8-5-4 |40.4| — 4 409 |iEE (BH)
31111 | ¥N—7T+ velb 56.0 2172 #1) | APEHE
R:ALYISvoel B:x—F4vI—LR BhR Sy R
— LN % 5 | PHST 1:33.5 1-1-1-1 | 42.1| - 7 | 522 |HWEX ()
4/8|/9|T—ILVYVIR 54.0 @) o | @ JPNEE#t
RNYT—I— F:TTU—NYT— NYT—45
4 8 | ELAKIEE 1:34.0 5-5-6-6 | 41.1| -— 5 445 | PG (EH)
50 6| F—7EL—=x $53.0 %) @5 | ) =<5I—RL—vaY
RNT B h—TOLEVh =745
$ B9 | AW—HE 1:35.1 7-6-4-5 | 42.4| — 9 | 465 |LOE=E (Fk)
617|770 54.0 @) ¢g) | EEES
RW—FHISYY BTV H—U— BERS
< P R :36. -7-8- . - KEFER (FR)
; 5 | IRRYNAY T A v 5 | B 1(376)2 6-7-8-7 | 43.0 8 :(1)2) iﬂ”%;\
RiFVyVvH/FEF BYYPUIE—R IV T7—LI
g ~ B 8 | AAFEE 1:38.0 9-9-9-9 |42.7| — | 10 | 460 |AWNIEth (EH)
88|10 BILRDAY 54.0 (544) 47 |SEVIE @
R:/ITUZ N B:JURIZAF+Ol HEIT7—L
s TR :40. -3-7- . - EREEE (T
917|g | vavu o B4 e (19‘}19@?) 3-3-7-8 | 48.4 3 (5_295) u—r:#;:;’
RiARASR=Z—9 H:vavu /9945 Nim  EE
B ot HhE = - - - RFIZ=(E (BE)
«|5|5 |5/ VT2UFPR 3R (Eh1b) ° (‘gg) (#) F/wIR
SNT B —RARNAE— =YV T 57—
@ 1—F—&BIE(I
13—7— |9.4,8,3,6,2,7,1,10
20—F— 9,4,(3,8),6,7,2,1,10
BEIES /S 9,4,3,7,1,6,8,2,10
40—7F— 9,4,3,1,7,6,2,8,10
[ BN
BB 3 230 AR 3-4 3004 AR 3-4 520 3EE 1-3-4 1,100H4
BB 3 120M4 1-3 3604 o 18 3-4 6204 3iEH 3-4-1 3,400H
4 140/ 1-4 280M B H 3-4 910/
1 1601

ABIC OV TRUTEREERRODDZE. THRIIZEL.




